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3.13 <3.1> A=Y &4 <3.2> z(t) = (1.291 m) e **'sin38.7¢
<3.3> 0<t<7w ; z(t) = 0.577 ¢ ' sin(1.732 t) m
t=r 5 z(t) = 0577 ¢ ' sin(1.732 t) + 0.577 ¢ “"sinl.732(t—7) m
<3.4> 0=t<7 ; z(t) = 0.750 e ! sin(1.414 ¢+ + 0.340) + 0.354 sin(t - 0.785) m
t=r 3 x(t) = 0.750 e ! sin(1.414 ¢ + 0.340) + 0.354 sin(t - 0.785)
+ 0.707 ¢ """ sin1.414 (t— ) m

<35> x(t) = L ¢ ot
m
36> w(t) = — L e[ e Cor cen /O] 37> wE Iz
2muw,, \/(2*1
<3.8> z(t) = 50.4x107° ¢ 37! <in(1,986 ¢) m
<3.9> |z(1)] = 0.0050 m > 0.0001 m, ©3|# &=t}
<3.10> z(t) = %eicw“t sinw,t <3.11> z(t) = (1 m/s) t e 2
d

<3.12> z(t) = (0.01 + 1.02 t) e *' m
<3.13> z(t) = 1.166 ¢ ' sin(1.732¢+0.0172) + 0.577 e ' sin(1.732 t)
- 0.192 e "7V sinl.732(¢t-1) H(t—1) m
~ 1.743 ¢ ! sin(1.732 ¢) - 0.192 ¢ "~V sin1.732(t-1) H(t—1) m

<3.14> z(t) = (0.01914 m) e **'sin174.2¢
x(tp)damped = 001226 m , x(tp)undamped = 001826 m

<3.15> Ay=F <3.16> A= <3B.17> A=

3.248 <3.18> A= <3.19> A=F <3.20> A=F
<3.21> 0<t<4s 4 w}, z(t) =5 & - sint) m
t>4s 4 W], z(t) =20 + 5 [sin(¢t-4) - sin t] m

Fi Fi
<3.22> 0<t<t, & W, 2(t) = —2(1— cosw,t) + —|— sinw,t — ¢
k kty\ w,
Fy . .
t >ty d W, z(t) = ——cosw,t+ [sinw,t — sinw, (t—t,)]

k ktyw,
<3.23> z(t) = (0.500 m/s) t - (0.0500 m) sin(10.0 ¢)]
<3.24> 0<t<t, ; z(t) = 2.50 t - 4.56 sin0.548¢ mm
t<t<t, ; z(t) = 0.750 - 1.250t - 4.56 sin0.548¢ + 6.84 sin0.548(¢-0.2) mm
t=t, ; x(t) = —4.56sin0.548¢ + 6.85sin0.548(¢t-0.2) - 2.28sin0.548(¢+-0.6) mm
.

F —
5 =1.00 s <3.26> 0S. = %MH = 21.9 mm
d

<3.27> w, = 3.26 rad/s, ¢ = 0.268
<3.28> 0<t<0.994s ; z(¢) = 0.0300 [1 - 1.005 e %316% ¢0s(3.14 ¢ - 0.1002)] m
t>0.994s 5  x(t) = 0.0302 ¢ "0 [1.369 cos(3.14 + - 3.23)
- cos(3.14 + - 0.1002)]
<3.29> z(t) = (10.00 mm) cos4.472 t + (2.50 mm) (2 sin10t - sinb5.528¢ — sinl14.472t)

<3.25> t, =



3.3 <3.30> 7, f% (=E)  <331> ay =0, a, = 0 (n A5, ——>(n FF),
n m
<3.32> F(t) = n:g;’swnfsmnt = WZI @ Un sin(2m—1)t
_ 1yl 1 1s1
<3.33> f(t) = 5 +n21( )smnt 5 7rn:lnsmnt
1 1, . 1 . 1 .
= — — —(sint + —sin2t + —sindt + ) <3.34> A
2 T 2 3
— —0.01013 _¢ 0.707n
<3.35> z (t) = cos|nt —tan ' ————
! }:3 n2y/n' —24.5n2 +156.25 12.5 — n’
<3.36> xp(t) = 0.000708 cos(1.414 ¢+ - 0.014) + 0.0501 sin(1.414 ¢t - 0.014)
= 0.0501 cos(1.414 ¢+ - 1.57) m = 0.0501 sin(1.414 ¢ - 0.014)
<3.37> A% <3.38> A%
E —tw
3.44 <3.39> z(t) = —2|1 — #e g”tcos(wdt — )
k 1,<2
<3.40> z(t) = (44.7 mm) e 1 (!181 - 7 11181)
F — w”_a w
<3.41> z(t) = 5 0 5 [e_‘” —e “eoswyt — n—a sinwyt
m(w, —2¢w,a+a’) Wy

<3.42> z(t) = ﬁ siny/20¢t m = 0.0894 sin4.47¢t m

<3.43> z(t) = % sint - % sin2t  (m)

b

n

m



